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000 N 6+1= There are yellow counters. 8 + 0 patterns
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If[5]is the whole and[3]is a part, exchange
6 and 1 are a number bond to 7
So 16 and 1 are a number bond to 17
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3+[2]=5
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L 3]+ [6]=[3 Year 2 (Mixed) oSS
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Equal and Vocabulary
< e > Year 1 Mixed Equal
T - - - s |
Multiplication and Division (page 1) sttt
000 000 000 ltogete
.. repeated addition
W @ & & & o - < Counting in 3s > multiplication
+3 +3 +3 +3 +3 multiply  x symbol
The groups are equal. lots of
There are 5 cubes in each group. Count in 2s mm multiplied by
@ e Tttt 1 array
@ H@ 012 3 456 7 8 9101112131415 pattern
“‘ “‘ ‘ ‘ “‘ 0 2 4 rovg- -c.olumn
Counting in 10s ansion
@ 00 | @0e0® 9 - symbol.
Th | ] @0 De)er share sharing
€ groups are unequal. 6 3 10 0 10|20|30|40|50|60|70 times-table
There are a different number of double halve half
cubes in each group. odd even
< Multiplication >
QOOI0Y [OICIOOIO ot inee O 08
sossoflessee ount in55. 81 88 | ereae s W Fowera X
each vase. There are 8 flowers
0000 Ce altogether.
QlIOIOI0IO @0 @0 _ *lots of"
e e 2 | lots of 4 isequal to8
There are _3 equal groups with e (e o “groups of"
10 Th eathigrotio, e @0 2 | multipliedby 4 =8 smultiplied by
LS 00 5 LB s T8 prec sy
‘ ‘ ‘ ‘ ‘ : - o -
1,12 (34|56 |7|8|9]|10 /\ /\ /\ /\
There are _6 equal groups with 11 (1213|1415 16|17 |18 |19 |20 /\ /\ /\ /\
S i RS 21|22|23| 24|25 26 | 27 |28 |29 |30 /\ /\ A\ /\
There are 18 cubes altogether. 31132|33|34|35/36|37 38|39 40
41|42 43] 44|45 46| 47| 48| 49|50 4+4+4=12 3+3+3+3=12
3 [+| 3+ [3]+|3|+|3 |+ 3|=[18 3x4=12 4x3=12




grouping Multiplication and Division (page 2) by 2. 5

and 10

20 divided by 4 is equal to 5
20-4=5 An array The children are split into 2 equal teams.
columns

s3s88888ss

There are 20 counters altogether.
ad 1 ]

6
T have put them into equal groups of _4 FOWS —p ... There are 2 equal groups
3

There are _5 groups. - ... - There are

Made up of equal rows and columns

There are

children altogether.

in each group.

Make equal groups - Arravs to show 4 X 2 6 - 2|=3
sharing Y . .
20 dividegoby 1is %qual to 5 OOOO . . 80 Eﬁ [ﬁ Eﬁ Eﬁ [ﬁ Eﬁ
' OOOO .. 10/10|10(10(10|10|10|10
000 ......‘. o0 &)x[5]-0 30
CY Bl X ) 8 |x|10|=180 5/5]5|5|5
O O
There are 20 counters altogether. O O
I have shared them into 4 equal groups. 8 8
There are _5_in each group. O O
O O
oz pimag saca 2 x[6]=[12




Year 1 Mixed
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0Odd and Even

)

. o . e e Numbers
Multiplication and Division (page 3)
112 (3/4|5|6|7[8|9/|10
[
< Halving 00000 _, QP000@ 11 (12|13 |14 | 15 | 16 | 17 [ 18 | 19 | 20
0000® 000 |
EIgPI — @0 000 2122|2324 |25|26|27|28 29|30
| Q00 00000 ., 00000 000
0000 HEREEN 31132 (33(34(35(36|37|38]39]|40
S| +[3]=10 16|+ 2|=8 41 |42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50
10|+ 2 =/b
5 x 2 =10 2,4,6,80r0 i
Half of 10 = 5 Half of 16/=| 8 Even numbers have 2,4, 6, in
the ones column.
Double 5 = 10
Odd numbers have 1,3,5,70r 9 in
, the ones column.
gs3sssssss || sesse
0000000000 | 90000 ° -
0000000008 go0000 -5 -7
1w 1= 2+2=4 3+3=6 L+4=8 54+5=10 z:ggzg:zgz ':gg::
10/ x| 6| =60 00000 ,
Here are 30 cookies.
60 +|10|= 6
€D B B> VP BB
5612 74+7=14 g 8= iE 0% g 18 10/4 10'=20 There are cookies altogether.
There ar'e equal groups of IE‘
v‘\l”éﬂ",ﬂﬁ{,&‘i Primasy, Schoot +[5]=[e]




Equal and
unequal
groups

The groups are equal.
There are 5 cubes in each group.

Year 2 Mixed
Multiplication and Division (page 1)

The groups are unequal.
There are a different number of
cubes in each group.

OO0 101010100
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There are _3 equal groups with
10 ineach group.

There are _6_equal groups with
_3 ineach group.

OO

There are 18 cubes altogether.

33+ 3|+ 3|+ 3[F 3[=|18

< Multiplication >

“lots of"”

There are 4 vases with 2 flowers in
each vase. There are 8 flowers

altogether.

“groups of"
“multiplied by"

"times"

g888

2+2+2+2=28
4 x2=28

223,

3x4=12

"3 lots of 4 is equal to 12"
"3 groups of 4 is equal o 12"
"3 multiplied by 4 is equal to 12"
"3 times 4 is equal to 12"

& e

2 lotsof 4 isequal to8
2 | multiplied by 4 =8

2 X 4 =8

Vocabulary
Equal
unequal groups
same different
altogether
repeated addition
multiplication
multiply  x symbol
lots of
multiplied by
array
pattern
row column
division
+ symbol
share sharing
times-table
double halve half

odd even
- An array

Made up of equal rows and columns

columns

bl
~ 900
s - QOO

-~ 000

Arrays to show 4 x

2
@
0000 @
0000 :
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Make equal groups -
grouping

20 divided by 4 is equal o 5
20+-4=5

3434144344

There are 20 counters altogether.

T have put them into equal groups of _4

There are _5 groups.

Year 2 Mixed

Multiplication and Division (page 2)

Odd and Even
Numbers

112 (3|4 |56 |78 9/[10

Make equal groups -
sharing

20 divided by 4 is equal to 5
20+4=5

stos30ssess

There are 20 counters altogether.

I have shared them into 4 equal groups.

There are _5_in each group.

M 12 (13 114 (15116 (17 | 18 | 19 | 20

21 |22 (23 |24 | 25| 26 | 27 | 28 | 29 | 30

31132 33134 |35|36|37|38|39)|40

41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50

Even numbers have 2,4, 6,8 or O
the ones column.

Odd numbers have 1, 3,5, 70r 9 in
the ones column.

There are 15 cookies altogether. Gr‘ouging
I have put them into equal groups of 3 15 . 3 _ 5
There are 5 groups. e \
total number of
each group
There are 15 cookies altogether. Shar" n
They are shared into 3 equal groups. 15 - 3 = 5
There are 5 in each group. / \
total ;
number in
each grou
G AR @Ry et T
groups

v“falmslcy C.E. Primary School
Where gotting beticr never stops

The children are split into 2 equal teams.

There are _6 children altogether.
There are _2_equal groups.
3

There are _3 in each group.

6)+[2]=3]

Divide by
2
Grouping Sharing
Here are 14 counters. Here are 14 counters.
0000000 0000000
0000000 0000000

Put them into groups of 2 Put them into 2 equal groups.
N N X N N N [......@[.......]

There are _2_equal groups of 7_

There are _7_equal groups of 2_

14+ 2] =[7 14|+ 2] =[7
. number of amount in

amount in number of
each group groups groups each group




Year 2 Mixed

Multiplication and Division (page 3)

< Halving >

e H — 8822 |eeewe COCCCE
oo00e " [l <ee®

times table 5 times table

N
3
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5|4+ 5|=/10 16|~/ 2 |=| 8
10+ 2|= b
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5|x| 2 |=/10

LONOUVAWNE
X X X X X X X X

Half of 10= 5 Half of 16 = 8 5 =45
10 x5 =50
11 x5=55

12 x5=60
10 times table

Double 5 = 10

DR R R

1+1=2 2+2=4 3+3=6 4+4=8 5+5=10

BERaad

6+6=12 7+7-=14 8+8=16 9+9=18 10+ 10 = 20
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10 x 10 = 100
11 x 10 = 110
12 x 10 = 120
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Measuring
in cm

We can measure length and height
in centimetres using a ruler.
| |

1T 2 3 4 5 6 7 8 9 10 11 12 13 14 15

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

Year 2 Mixed

Vocabulary
. Length height
Length and HEIght centimetres cm
metres m
7 7 measure
< Measuring in > — longer than
metres - The pencil is longest
6 cm long. shorter than
We can also measure lengthand || o 1 2 5 4 5 6 7 5 5 1 J shortest
height in metres. taller tallest
Th . greater than
-_ . . - - 1""I 01 2 3 4 5 6 7 8 9 10 9 Cempleor:lls less than
P L A o LA 0 g- equal to
. > < =
G L A L 9 is greater than 6
Which is longer, 1 cm Of‘@ The pen is longer than the pencil.

The start is lined up with _0 cm.
The end is lined up with 8 cm.
The length of the pencil is _8 cm.

How long is the chew bar?

What is the length of the desk?
2m

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
G

The start is lined up with _2_cm.

The end is lined up with _11 cm.

The length of the chew is _9 cm.
11-2=9

The height of
the giraffe, to
the nearest
metre is 3m

NNNN

The bus is Em long.

[ESSSERNERES RSN S
The car is m long.

The car is shorter than the bus.

The bus is longer than the car.

. The bear is?‘ cm tall.

The bottle isE cm tall.
The bear is shorter than the bottle.

The bottle is taller than the bear.

| is equal to I

This wall of blocks is 12 cm long.

(T

12 cm
What is the length of each block?
There are 6 blocks.

12+6=2

Each block is 2¢m long.

v\'falmslcy C.E. Primary School
Where gotting beticr never stops




Compare length
and height

Year 1 Mixed
Length and Height

[

e’

The pen is longer than the pencil. ]

o)

©

[ The pencil is shorter W}
gt

[ The glr'affe is taller than the horse.

®

Vocabulary
longer
shorter

taller

[ The horse is shorter than the giraffe.

Measure length

using objects

How long is the pen?

|

The penis 5 E

cubes long. -

QY v i primay saoo

Measure length in
centimetres

We can measure length and height

in centimetres using a ruler.

el
0.1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
C
.

difference
is the same
is equal to
greater than
less than
compare
measure
unit of
measure
centimetre
cm
length
height

How long is the line?

I RN
01 2 3 4 5 6 7 8 11 12 13 14 15

The line is _10 cm long to the
nearest centimetre.

We can also measure length and
height in mefres.

Which is longer, 1 cm or@




Year 1 and 2 Mixed

Vocabulary

How many cars are there in total?

Statistics - tally I:flhart
table
Item Tally piCtOg ram
Block most popular
diagram ruler M HHH HHT least popular
il .
pencil | HH HH HHH HH block dlagram
_ _ A block diagram represents data using rubber | HHT 4T represent
Tally marks look like this: blocks. One hlock represents ane item.
i Bk _1“[ ] — T Item Total SymbOI
n
dinemm.“::h - 9 ruler 17 Category
is vertical, ¢ pencil 20 key
shows the 7 1] similar
number B rubber 10 }
The Jifth mark goes diaganally, like a %™ 5 different
gate. &
3
A tally chart is one way of collecting z
data wsing tally marks 1
% %, ‘%9 %, cg% ‘
Eye Colour Tally Total The pictogram shows the colour of cars
srour H ‘ Prekograns pap pebises o synbels o | | ina car park
blue M 8 :.;:* met:-:meE /s.ymbp,ai Lan’trﬁprzﬁzni ﬁﬁzpitzm or am.ore Ke A = 10 cars
pre— I” 3 pes than ﬂnzﬁyﬁxﬁgﬁzﬁz ;f;gﬁﬁtg}lAL each Y
grey ] 4 ) Favourite Colour Colour Number of cars
hazel J'"T 5 Iﬁf blocks can 4 ”Hm o - - Key red A A A A A 50
’ o | | - 1 ehid black | /A A 20
oo white |AAA 30
o0 o
Red

Blue  Gresn  Yellow  Pink

50 + 20 + 30 =100




